[image: image2.jpg]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz


5
www.rdmoto.cz


S34S
Suzuki GSX-R1000 2017-
	LEFT SIDE KIT
	RIGHT SIDE KIT


	ID
	Description
	Cat.no.
	pcs
	
	ID
	Description
	Cat.no.
	pcs

	1
	Slider adapter
	317
	1
	
	1
	Slider adapter
	317
	1

	2
	Bolt M10x40mm
	854
	1
	
	2
	Bolt M10x40mm
	854
	1

	3
	Bolt M6x25
	877
	3
	
	3
	Bolt M6x25
	877
	3

	4
	Bolt M4x16
	876
	2
	
	4
	Bolt M4x16
	876
	2

	5
	Bolt M10x60x1,25mm
	896
	1
	
	5
	Bolt M10x60x1,25mm
	896
	1

	6
	Alu. cylinder 6mm
	1229
	1
	
	6
	Alu. cylinder 8mm
	1134
	1

	7
	Steel adapter S34-L
	717
	1
	
	7
	Steel adapter S34-P
	718
	1

	8
	Washer M10
	804
	1
	
	8
	Washer M10
	804
	1

	9
	Safety nut M10
	810
	1
	
	9
	Safety nut M10
	810
	1

	10
	Spring washer M10
	801
	1
	
	10
	Spring washer M10
	801
	1

	11
	Tape 3M
	  -
	1
	
	11
	Tape 3M
	  -
	1


INSTRUCTIONS
1) Unbolt original side fairing and original bolt from the frame of motorcycle.

2) Place washer ID10 on bolt ID5. Insert this kit through the adapter ID7 and alu cylinder ID6. Mount this kit into the frame of motorcycle.
3) Place side fairing back on the motorcycle.

4) Fit adapter ID1 using bolt ID2. Tighten it using washer ID8 and nut ID9.

5) Fit slider using three M6 bolts.

6) Fit cover using two M4 bolts.

We recommend to use safety glue on all threads (medium strong).
[image: image3.jpg]


[image: image4.png]


[image: image1.jpg]



1

